MATH 1325
Chapter 13.6: Applications Of Integrals

HE ANNUAL RATE OF RZPAIR COSTS For A CAR 1S GIVeN IN YEAR X
A
BY R(X) = 120e X FIND THe REPAIR. CosTS Far. L Year WD 3 YEARS.

Area Berween o Cueves

A COMPANY GENGRATES RAVENVE OVER G years wimi £(x) z-4t*+4.3L+9
AND INCURZS OSTS WITW qE)=-.4k"+2.2£+5. FND THE PROFIT
(IN MILLION S OF DoULARS) bver THE b YEARS .
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Mazaivar Ravenue : R'(X) ==.3%2+9X +4 } IN HUMDRZDS OF DOLLARS
Maraivar CosT C'Y(X)= 2% +6 PR HUMRED \TEMS

How many TeMs SHOULD B2 PReDUCED TD MAXIMIZE PRAFIT

WHAT wilL THe Mmayymum PROFIT BE ©
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Trc crice (1N PoLLarS PeRTON) For AN 1TE
e ( W DOLLARS per.TON) 1S

woren THE Deme ) 1S Q ToNS . Tue price (
S(Q) = Q%+ L0R wHeN THE SUPLy 1S Q@ Tons. s
Finp Te Consumzrs’ SURPLUS A The PRODUCERS 'S :



